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HIH : 20234E9H24H (H) 25T T T 407 Ak H—(50m)

No.26 BB+F 50m Fjk= A LL—R R

L M4 >

B K 4 T B 2E KE B E
1 BHE K& FT AR M 4/ 3 42.12 ( 0.63)
2 EH O OES feZE 1 /N4 4/ 2 44. 04 ( 0.65)
3 AH FEiR WhiteD sINA 4/10 46. 44 ( 0.60)
4 =k 1% T-MAO /N3 3/ 6 47.95 ( 0.76)
5 Ak B BIGA B /N3 3/ 9 49. 59 ( 0.74)
6 K il eI /N3 3/ 3 50. 96 ( 0.68)
TEIR KA BIGAS 5 /N3 3/ 2 52.04 ( 0.80)
8 HZE FIF IIN2 3/ 4 52. 21 ( 0.69)
9 FH il IN2 3/ 8 55.72 ( 0.67)
10 BJIl A O KKEE /3 1/ 5 59.53 ( 0.97)
11 §H AR HAY L AB /N2 3/10 59. 64 ( 0.83)
12 17K B ATY /N4 2/ 9 1:00. 58 ( 0.70)
13 HH  FHfn WhiteD /N2 2/ 6 1:01.20 ( 0.67)
14 HERR 5 CEHRTZT /M 2/ 2 1:02.47 ( 0.69)
15 HEH &4 HAHFLZAB /] 2/ 8 1:03. 43 ( 0.81)
16 fIAAR  5F HAYPF L AB N2 1/ 7 1:08.93 ( 0.91)
17 18T HEK CHIT 77T /3 1/ 2 1:19.03 ( 0.52)

No.26 BBF 50m Fjk =¥ B4 LL—RRE

L M5 -6 >

IBf. KK 4 i B 2E KE i
1 RALRGLFH FT AR /N 4/ 5 35. 86 ( 0.64)
2 B4 =4 TRG NG 4/ 4 37.79 ( 0.84)
3 fEME  fdgy NG 4/ 8 40. 05 ( 0.74)
4 gy A NG 4/ 7 40. 44 ( 0.67)
5 KPR FBE fisE 1 /N6 4/ 6 40. 65 ( 0.63)
6 A1 75 JHANF /NG 4/ 1 44. 26 ( 0.73)
7 mEA AL fisE 1 /N5 4/ 9 46. 87 ( 0.63)
8 P HEEE o) 112 =IRD NG 2/ 5 47.55 ( 0.81)
9 RE  JEEE H HKKZEHE /b 3/ 5 48. 64 ( 0.82)
10 B% 2570 e /NG 3/ 7 51.74 ( 0.95)
11 FI A CHIET T /6 2/ T 52.08 ( 0.89)
12 4 TEE) CHET 7T b 2/ 3 1:01.82 ( 0.70)
13 JH [EL CHETZ7 /b 1/ 8 1:05.12 ( 0.77)
14 AR FEH f 1“2 EIRD 7INB 1/ 3 1:21. 82 ( 0.75)
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